Front Panel Layout Installation

&) akasa.

1 8 VESA Mounting Instructions

A Custom SATA Cable Connection

®

USB 3.0 ports ---------------------
Headphone / Microphone -------------------------

- - Power switch
7777777 Hard drive LED
e Power LED

GB

@ Thermal compound @@ Thermal gap filler @) Screws for motherboard (M3) ® Washer

(® Thermal gap filler (for M.2 SSD) @ Thermal module (for M.2 SSD) EMI gasket Rear Panel Layout

© 2.5” HDD/SSD screws (M3) @ 2.5” HDD/SSD mounting bracket @ HDD protective film
@ SATA adapter cable @ VESA mounting screws (4 VESA mount bracket @ Case feet kit

User Manual ****************** Rear I/0 opening

FR ‘
Product Code: A-NUC96-A1B / A-NUC96-M1B (D Composé thermique @@ ) Pate thermique @ vis pour carte mére (M3) & Rondelle 3
® Pate thermique (pour M.2 SSD) @ module thermique (pour M.2 SSD) ) @ ‘ — @
Joint de blindage EMI @ Vis de disque dur / SSD 2,5" (M3) @3 O™ D ] o
(@0 Support de fixation de disque dur / SSD 2,5" @ Film protecteur de disque dur EQ Q
(2 Cable adaptateur SATA @) Vis de fixation VESA (@ Montage VESA @) kit de pied de boitier 3 L !
GB 1
CAUTION P e Antenna fitting holes
Electrostatic discharge (FSD? can dam‘age system compc{nem':s. If an DE e Kensington lock hole
ESD-controlled workstation is not available, wear an antistatic wrist strap or [©) Wairmeleitpaste @® Thermaler Liickenfiiller @ Schrauben fiir das Motherboard (M3) ® scheiben
touch an earthed surface before handling any PC components.
WARNING ® Thermaler Liickenfiller (fiir M.2 SSD) @ Thermo-Modul (fiir M.2 SSD)
Please be careful when unpacking and setting up this product as metal edges EMI-Dichtung (9 2.5" HDD/SSD Schrauben (M3) 2,5" HDD/SSD-Befestigungsbiigel
injury if handl ith . K fr hil b
CenlCaue Inuojifnethand Snitbicare Kespanay Rarichitrsn @ HDD-Schutzfilm (2 SATA-Adapterkabel @ VESA-Montageschrauben {# VESA-Montagehalterung
FR (@ Gehiusefule Zubehor
ATTENTION
Une décharge électrostatique (ESD) risque d’endommager les composants du Intern al Layo ut
systéme. Si vous ne disposez pas d'une station de travail avec protection contre PT
I'ESD, portez un bracelet antistatique ou touchez une surface relice a la terre @ Pasta térmica @@® ) Pelicula térmica @ Pelicula térmica (para M.2 SSD) ® Aluminium heatsink for heat transfer
avant de manipuler les composants de I'ordinateur. | | OF | PCB
AVERTISSEMENT ® médulo térmico (para M.2 SSD) (® parafusos para placa-mae (M3) @ Arruela ® Junta EMI ® ront panel PC|
" : déhall " : " | - . M/B i fF:
Faites lors du etdel de ce produit car il © Parafusos para HD e SSD (M3) @ suporte de fixagao para HD e SSD (@ pelicula protetora para o HD ®2 /,, :;;ntngstando s hol
comporte des coins métalliques coupants qui risquent de vous blesser s'ils ne . - -5 / SSD mounting holes
SR s e e (2 Cabo adaptador SATA @) parafusos para instalacio no suporte VESA
Garder loin des enfants. (@ suporte de montagem VESA (@ Kit de fixagéo do gabinete 3
DE ]
Vorsicht ES N T
Elektrostatische Entiad ESD — EI ic discharge) ks . ; { HiihGhe
ektrostatische Entladungen (ESD — Electrostatic discharge) kénnen (D Compuesto térmico @@ Relleno térmico @ tornillos para la placa base (M3) ® Arandela (e iihhLe
Sy k beschédi Sollte ein ESD geschiitzter Arbeitsplatz L ) o , L \J;_d,m - .
nicht vorhanden sein, tragen Sie ein antistatisches Armband oder beriihren Sie ® Relleno térmico (para M.2 SSD) @ médulo térmico (para M2 SSD) ® Junta EMI 1\ il n - I H‘ Mnn
eine geerdete Oberfliche bevor Sie mit den Arbeiten am Computer beginnen. @© tornillos para HDD/SDD de 2,5” (M3) (0 Soporte de montaje para HDD/SDD de 2,5 .| wmp o2& -4 1Mo+ = AR T T— Y Y s S W 9 M u u\ u I W H; \h‘\' """v
Warnung . . _ | WU
Sean S e i Avsmaan ) i A dses Fretiiics @ Pelicula protectora para HDD (2 Cable adaptador SATA @ Tornillos de montaje VESA | S U \2]\ |
Scharfe ik ko Verls hervorrufen wenn ohne die nétige bracket de la montura VESA @ kit de pies de la carcasa
Vorsicht vorgegangen wird.
Von Kindern fernhalten.
RU
f:fJIDADO @ TepmokomnayHg @@ TepmosanonHuTenb 3a30pos @ BuHTbI ANA MaTepUHCKOIi nnatbl (M3) (N ‘/ Ia
. |
Descargas electrostaticas (ESD) pueden dafiar los componentes de su sistema. ® Waiba ® Tepmo3anonHuTenb 3a30pos (AnA M.2 SSD) @ Tepmomoaynb (Ans M.2 SSD) ‘\‘ ~\‘ ‘ ‘
Si "f’ puede dis?on?r‘de una estacién de t:ﬁab‘ajo Iibr: de e!ectrostétic:, use una SMU-npoTekTop © BuHTbI (M3) pna anckos 2,5 HDD/SSD 10 \‘U»L — =l || —~_
muneqlferal:sn"emma ° to::le:r:a sufe cie que haga tierra antes de (0 MoHTaHbI KPOHLWTENH ana anckos 2,5" HDD/SSD @ 3awutHas nneHka ana HDD o / ’ T~
PELIGRO @ Nepexoaroii kabenb SATA (@) BunTbl kpenneHna VESA [ kpennenne VESA A Custom SATA Cable Connection / / \
Por favor sea cuidadoso cuando d paqu y bl es'te producto. Los ® Ha6op Hoxek Kopryca -
filos de metal pueden causarle cortes o heridas si no son manipulados
adecuadamente. ﬁ
Aléjate de los nifios. cz < éﬁ
7
PT (@ Tepelna slougenina @®) Teplotni vyplii @ Srouby pro zakladni desku (M3) ® Podlozka < RO @ZI
CUIDADO ® Teplotni vyplii (pro M.2 SSD) @ Tepelny modul (pro M.2 SSD)  ® Tésnéni EMI Case Feet Installation
Descargas Eletroestaticas (ESD) podem danificar componentes do PC. Caso nao ¢ " o o yes " Z
tenha uma bancada especifica disponivel, utilize uma pulseira anti-estatica ou ® Srouby pro 2,5" HDD/SSD (M3) ® Upeviiovaci drzsk pro 2,5" HDD/SSD 1
toque uma superficie aterrada antes de ualq p @ Ochranny povlak HDD @ Kabel adaptéru SATA @ Upeviiovaci $rouby VESA
ATENGAO S ; .
VESA tazni drzak (9 Sada podpér krabi
Por favor tenha cuidado ao desembrulhar e montar este produto, as montazni drzék @ Sada podper krabice
extremidades de metal podem machucar, caso o0 mesmo nao seja manuseado
com cuidado. PL
Manter fora do alcance das criangas. . . Internal Cable Connectors
(@ Srodek termoprzewodzacy @@ Termiczne wypetnienie @ Sruby do mocowania do plyty gtéwnej (M3)
RU ® Podktadka ® Termiczne wypetnienie (do M.2 SSD) (@D Modut termiczny (do M.2 SSD) Uszczelka EMI
g::;(?:;):(al:::{ecmﬁ T () 0T ST GG TR G, @© Sruby do dysku HDD/SSD 2,5" (M3) @ Uchwyt montazowy dysku HDD/SSD 2,5" @ Folia ochronna HDD
Ecnu pabouee MecTo ¢ 3awuTtor oT SCP OTCyTCTBYET, peKOMEHAYETCA Npu (2 Kabel adaptera SATA @ Sruby do uchwytu VESA @ Uchwyt montazowy VESA @® Nézki obudow,
P Y wy! y! wy y
paéoTe C KOMNbIOTEPHbIMW KOMMNOHEHTaMN HajeBaTb AHTUCTaTNYECKUIA
6pacieT unm 06ecneunTb KOHTAKT Tefa C 3a3eMIEHHOI MOBEPXHOCTBIO.
ChLYEE » USB 3.0 A male HD Audio in/out Power & HDD LED
CobniofjaliTe 0CTOPOKHOCTb MPY PACMaKOBKe 1 MOHTaXe 3TOro U3aenua Tak OBEEHEIVNRI VR @O T —<ILEvy TT15— @ <H—R—FBERL (M3) con’nector connector connectors
KaK OCTpble Kpas MeTaInieckux Yacteil MoryT CTaTb NPUUVHONM Gpr3nYecKomn N . — o3
SR, 12 MR s R A ®TyvVy— @Y—<IVFrvTT45—M25D ) D H—<ILEI 21— (M.255D F) GB
Emi/—JU RH R b @ 2.5 HDD/SSD A%< (M3) (0 2.5” HDD/SSD B 7S 47w b Connect the case internal cable connectors to the corresponding motherboard headers.
cz = > 3 S 55 ~ = NOTE : If the connectors are not apparent on the board consult your motherboard manual.
=3 7 —h— S %3 5 PP y
POZOR @HOD RET A VL @THT 2= =TIV @VESARBEY @VESAR T R TS5 b Connecting the panel to the wrong headers may result in motherboard damage.
Elektrostaticky vyboj (ESD) mize poskodit souéasti systému. Pokud neni k ® 47— R
dispozici pracovni stanice s kontrolou pied ESD, pouzivejte antistaticky feminek FR
na zapésti nebo se pred ipulaci s jakymikoli sougastmi potitaée dotkné Branchez les connecteurs de céble internes du boitier aux embases de carte mére correspondantes.
uzemnéného povrchu. CN REMARQUE : Si les connecteurs ne sont pas apparents sur la carte, consultez le manuel de votre
:fk()bv:\N! : Covovént tohoto virabku divert ek ’ @ B#E @0 BMATK R @ FiRigz (M3) ® £FE carte meére. Si vous connectez le panneau aux mauvaises embases cela risque d’'endommager la carte
ri vybalovani a nastavovani tohoto vyrobku davejte prozor, protoze kovove o o mere.
okraje mohou pfi neopatrném zachazeni zpiisobit poranéni. Udrzujte mimo ® SHIEFRHR (M.2 SSDFH) @ HAdEsR (M.25SD ) FRELR#RE R
dosah déti. © 2.5" HDD/SDD %4 (M3) (0 2.5" HDD/SDD &322 @ WE#{R PR @ SATAEFR 82 4 DE
o @ VESAZR 24242 @ VESA LA © HlIEHIER :Cc:lliljzﬂeen Sie die Geh&useinternen Kabel-Anschliisse an die entsprechenden Motherboard-An-
PRZESTROGA HINWEIS: Wenn die Anschliisse auf dem Motherboard nicht ersichtlich sind, schauen Sie bitte in
Wytadowanie elektrostatyczne (ESD) moze uszkodzi¢ podzespoty systemu. Jesli ihren Motherboard-Handbuch nach. Ein Anschluss des Panels an die falschen Anschliie kann dazu
stacja robocza przystosowana do pracy z wytadowaniami elektrostatycznymi nie fiihren, dass das Motherboard beschadigt wird.
jest dostepna, nalezy zatozy¢ antystatyczny pasek na nadgarstek lub dotknaé
uziemionej powierzchni przed przystapi do obstugi jakichkolwiek PT
podzespotéw komputera. Conecte os cabos internos do gabinete, nas entradas correspondentes da placa-mae.
OSTRZEZENIE NOTA : No caso das entradas ndo estarem marcadas na placa-mae, consulte o manual da mesma.
Nalezy zachowaé ostroznos¢ podczas rozpakowywania i ustawiania tego Conectar os cabos numa entrada errada, pode danificar a placa-mae.
produktu, poniewaz I k edzie moga spowodowacé obrazenia, jesli nie
53 obstugi z zack i lezytej uwagi. Trzymac z dala od dzieci. ES
Conecte los conectores de los cables del interior de la carcasa en los correspondientes cabezales de
Jp la placa base.
EE _ . NOTA: Si los conectores no aparecen en la placa, consulte el manual de la placa base La conexién del
BESKE (EsD) BETHM - MBICRELEALTLNHDET. & panel en los cabezales equivocados podria dafiar la placa base.
HROMMTHEEETSHIC. BIBBIREFEZT> LIV, #
BRBLEES U BBEBIHLEAR NS Yy 72EAL T RIS FEEZT RU
;'i< &0, lMoakniounTe pasbembl BHYTPEHHMX Kabenell Kopryca K COOTBETCTBYIOLIMM pa3beMaM MaTepPUHCKOI
= nnarbl.
EEOA (TvY) BATTAZIZB/NANHDEIT DT, $§£%?F§Jm MPUMEYAHME: Ecnv Bbl He BUAWTE 3TVX Pa3beMoB Ha niate, 06paTuTech K PyKOBOACTBY
#® Y RTYTIBIRICE. <h<nbt+aTERELREEW, FELD nonb3oBaTensa CUCTeMHOI NnaTbl. MoAKNYeHNe NaHeNN K HEBEPHBIM Pa3bemam MOXeT NPUBECTU K
FOBDEVFAICENTTEL, NOBPEXAEHMNI0 CUCTEMHOI NNaTbl.
CN (o7 4
T8 PFipojte konektory vnitfniho kabelu sk¥iné k odpovidajicim konektorim zakladni desky.
B (ESD) AT BE S IR R Gi T - 1516 ARESD ARG « B FiREUSIL POZNAMKA: Pokud nejsou konektory na desce patrné, prostudujte si priru¢ku k zékladni desce.
KIfFut BT RETRAMRE - BERUEMBMEAYT - PFipojeni panelu k nespravnym konektor&im miize zpsobit poskozeni zakladni desky.
&
FRARZETE N BRFESROLE - LEZE - PL

Podtaczy¢ ztacza kabla wewnetrznego obudowy do odpowiednich ztaczy plyty gtéwne;j.
UWAGA: jesli ztacza nie s3 widoczne na ptlycie, nalezy zapoznac sie z instrukcja obstugi ptyty gtéwnej.
Podtaczenie tego panelu do niewtasciwych ztaczy moze spowodowac uszkodzenie plyty gtéwnej.

JP

SERICBEYY—R—ROYZ a7V eSB LT —ROEARI Y T— T 2E R LET.
E RS VY —AR—RICERT 2 YT —R—NICEBESZ BN HD £T, &F.
SERIRBZYY—R—ROYZ 2 7% SRS W,

CN

R BRI R S WL AR ST FEAE 3 Rz RO i F b o

EE: MRAER DR FEEMNMEEFESEERZERIRS -
INSRL RS B AT REE L EARIRIE -

2.5” HDD / SSD

5140284010 V1 2023/06



